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Multiple Choice //Q/ Vt\//;\/\/j

Identify the choice that best completes the statement or answers the question.
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What is an equatlon of the line, in point-slope form, that passes through the given point and has the
given slope?

3. point: (6,—8); slope: 6
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What is the equation of the given line in standard form? Use integer coefficients.
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What are the intercepts of the equation? Graph the equation.
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5. bx+2y=12

a. x-intercept: (2, 0)
Jy=intercept: (0, 6)
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x-intercept: (6, 0)
_ y-intercept: (0, 2)
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6. The office manager of a small office ordered 130 p,ag}gs, of printer paper. Based on average daily use, she
knows that the paper will last about 70 days. What graph represents this situation? How many packs of

printer paper should the manager expect to have after 10 days?
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What is the equation of the line in slope-intercept form?
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9. What is the graph of B}(g{ (shown below) translated up 3 units?
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Find the function rule for g(x).

14. The function f{x) =x>. The graph of g(x) is f(x) translated to the left 9 units and down 2 units. What is the
function rule for g(x)?

What transformations change the graph of f{x) to the graph of g(x)?
15. flx)=x; gx)=(x-2)"+8

What is the graph of the absolute value equation?
16. y=|x+3 -4

What is the graph of the absolute value function?
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Use matrices A, B, and C. Find the sum or difference if you can.
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Solve the matrix equation.
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Evaluate the determinant of the matrix.
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Does the given matrix, A, have an inverse?- Mdoes, whatis 47'?
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